# SUPERCONGRUENCES INVOLVING p-ADIC GAMMA FUNCTIONS

#### JI-CAI LIU

(Received 9 February 2018; accepted 27 February 2018; first published online 30 May 2018)

#### **Abstract**

We establish some supercongruences for the truncated  ${}_2F_1$  and  ${}_3F_2$  hypergeometric series involving the p-adic gamma functions. Some of these results extend the four Rodriguez-Villegas supercongruences on the truncated  ${}_3F_2$  hypergeometric series. Related supercongruences modulo  $p^3$  are proposed as conjectures.

2010 *Mathematics subject classification*: primary 11A07; secondary 11S80, 33C20, 33B15. *Keywords and phrases*: supercongruences, truncated hypergeometric series, *p*-adic gamma functions.

#### 1. Introduction

Rodriguez-Villegas [9] observed the relationship between the number of points over  $\mathbb{F}_p$  on hypergeometric Calabi–Yau manifolds and the truncated hypergeometric series. To state these results, we first define the truncated hypergeometric series. For complex numbers  $a_i$ ,  $b_j$  and z, with none of the  $b_j$  being negative integers or zero, the truncated hypergeometric series are defined by

$$_{r}F_{s}\begin{bmatrix} a_{1}, a_{2}, \dots, a_{r} \\ b_{1}, b_{2}, \dots, b_{s} \end{bmatrix}_{n} = \sum_{k=0}^{n} \frac{(a_{1})_{k}(a_{2})_{k} \cdots (a_{r})_{k}}{(b_{1})_{k}(b_{2})_{k} \cdots (b_{s})_{k}} \cdot \frac{z^{k}}{k!},$$

where  $(a)_0 = 1$  and  $(a)_k = a(a+1)\cdots(a+k-1)$  for  $k \ge 1$ .

Throughout this paper, p is a prime with  $p \ge 5$ . Rodriguez-Villegas [9] proposed four conjectural supercongruences associated to certain modular K3 surfaces. These were all of the form

$$_{3}F_{2}\begin{bmatrix} \frac{1}{2}, & -a, & a+1\\ & & & \\ & 1, & 1 \end{bmatrix}_{p-1} \equiv c_{p} \pmod{p^{2}},$$
 (1.1)

where  $a = -\frac{1}{2}, -\frac{1}{3}, -\frac{1}{4}, -\frac{1}{6}$  and  $c_p$  is the *p*th Fourier coefficient of a weight-three modular form on a congruence subgroup of  $SL(2, \mathbb{Z})$ . The case with  $a = -\frac{1}{2}$  was confirmed by van Hamme [18], Ishikawa [5] and Ahlgren [1]. The other cases with  $a = -\frac{1}{3}, -\frac{1}{4}, -\frac{1}{6}$  were partially proved by Mortenson [8], and finally proved by Sun [15].

<sup>© 2018</sup> Australian Mathematical Publishing Association Inc.

Let  $\langle a \rangle_p$  denote the least nonnegative integer r with  $a \equiv r \pmod{p}$ . Sun [12, Theorem 2.5] showed that for any p-adic integer a with  $\langle a \rangle_p \equiv 1 \pmod{2}$ ,

$$_{3}F_{2}\begin{bmatrix} \frac{1}{2}, & -a, & a+1\\ & 1, & 1 \end{bmatrix}; 1 \bigg]_{p-1} \equiv 0 \pmod{p^{2}},$$
 (1.2)

which partially extends (1.1). Guo and Zeng [4, Theorem 1.3] obtained an interesting q-analogue of (1.2). Using the same idea, Sun [12, Corollary 2.2] also proved that for  $\langle a \rangle_p \equiv 1 \pmod{2}$ ,

$$_{2}F_{1}\begin{bmatrix} -a, & a+1\\ & 1 \end{bmatrix}; \frac{1}{2}\Big]_{p-1} \equiv 0 \pmod{p^{2}}.$$
 (1.3)

The cases when  $a = -\frac{1}{2}, -\frac{1}{3}, -\frac{1}{4}, -\frac{1}{6}$  on the left-hand side of (1.3) have been dealt with by Sun [11, 12], Sun [14, 16] and Tauraso [17].

In this paper, we will prove some supercongruences for the truncated  ${}_2F_1$  and  ${}_3F_2$  hypergeometric series involving p-adic gamma functions. Some of these results extend the four Rodriguez-Villegas supercongruences on the truncated  ${}_3F_2$  hypergeometric series. Our proof is based on some combinatorial identities involving harmonic numbers and properties of the p-adic gamma functions.

**THEOREM** 1.1. Let  $p \ge 5$  be a prime. For any p-adic integer a with  $\langle a \rangle_p \equiv 0 \pmod{2}$ ,

$${}_{2}F_{1}\begin{bmatrix} -a, & a+1\\ & 1 \end{bmatrix}; \frac{1}{2}\Big]_{p-1} \equiv (-1)^{(p+1)/2} \Gamma_{p} \left(\frac{1}{2}\right) \Gamma_{p} \left(-\frac{a}{2}\right) \Gamma_{p} \left(\frac{a+1}{2}\right) \pmod{p^{2}}, \tag{1.4}$$

where  $\Gamma_p(\cdot)$  denotes the p-adic gamma function recalled in the next section.

**THEOREM** 1.2. Let  $p \ge 5$  be a prime. For any p-adic integer a with  $\langle a \rangle_p \equiv 0 \pmod{2}$ ,

$${}_{3}F_{2}\begin{bmatrix}\frac{1}{2}, & -a, & a+1\\ & 1, & 1\end{bmatrix}; 1 \bigg]_{p-1} \equiv (-1)^{(p+1)/2} \Gamma_{p} \left(-\frac{a}{2}\right)^{2} \Gamma_{p} \left(\frac{a+1}{2}\right)^{2} \pmod{p^{2}}.$$
 (1.5)

In order to prove Theorem 1.2, we need the following supercongruence which is a special case of a result due to Sun ([13], Theorem 2.2).

THEOREM 1.3. Suppose  $p \ge 5$  is a prime. For any p-adic integer a,

$$_{3}F_{2}\begin{bmatrix}\frac{1}{2}, & -a, & a+1\\ & 1, & 1\end{bmatrix}_{p-1} \equiv {}_{2}F_{1}\begin{bmatrix}-a, & a+1\\ & 1\end{bmatrix}_{p-1}^{2} \pmod{p^{2}}.$$
 (1.6)

Supercongruence (1.6) is a *p*-adic analogue of the identity

$$_{3}F_{2}\begin{bmatrix}\frac{1}{2}, & -a, & a+1\\ & 1, & 1\end{bmatrix} = {}_{2}F_{1}\begin{bmatrix}-a, & a+1\\ & 1; \frac{1}{2}\end{bmatrix}^{2},$$
 (1.7)

which can be deduced from Clausen's formula. We shall give an alternative proof of (1.6) by using some combinatorial identities.

The rest of this paper is organised as follows. In the next section we recall some properties of the p-adic gamma functions and establish some combinatorial identities involving harmonic numbers. We prove Theorem 1.1 in Section 3, and Theorems 1.2 and 1.3 in Section 4. Related supercongruences modulo  $p^3$  are proposed as conjectures in the final section.

#### 2. Some lemmas

Let p be an odd prime and let  $\mathbb{Z}_p$  denote the set of all p-adic integers. For  $x \in \mathbb{Z}_p$ , Morita's p-adic gamma function [3, Definition 11.6.5] is defined by

$$\Gamma_p(x) = \lim_{m \to x} (-1)^m \prod_{\substack{0 < k < m \\ (k,p)=1}} k,$$

where the limit is for m tending to x p-adically in  $\mathbb{Z}_{\geq 0}$ . We recall some basic properties of the p-adic gamma function (see [3, Section 11.6] for more details). For  $x \in \mathbb{Z}_p$ ,

$$\Gamma_p(1) = -1, \tag{2.1}$$

$$\Gamma_p(x)\Gamma_p(1-x) = (-1)^{s_p(x)},$$
(2.2)

$$\frac{\Gamma_p(x+1)}{\Gamma_p(x)} = \begin{cases} -x & \text{if } |x|_p = 1, \\ -1 & \text{if } |x|_p < 1, \end{cases}$$
 (2.3)

where  $s_p(x) \in \{1, 2, ..., p\}$  with  $s_p(x) \equiv x \pmod{p}$  and  $|\cdot|_p$  denotes the *p*-adic norm. For  $a \in \mathbb{Z}_p$ , set  $G_1(a) = \Gamma'_p(a)/\Gamma_p(a)$ . Then  $G_1(a) \in \mathbb{Z}_p$  (see [6, Proposition 2.3]).

**Lemma 2.1.** Let p be an odd prime. For any  $x \in \mathbb{Z}_p$ ,

$$G_1(x) \equiv G_1(1) + H_{s_p(x)-1} \pmod{p},$$
 (2.4)

where  $H_n$  denotes the nth harmonic number  $H_n = \sum_{k=1}^n (1/k)$ .

**Proof.** The *p*-adic logarithm is defined by

$$\log_p(1+x) = \sum_{n=1}^{\infty} \frac{(-1)^{n+1} x^n}{n}.$$

It converges for  $x \in \mathbb{C}_p$  with  $|x|_p < 1$ . Taking the  $\log_p$  derivative on both sides of (2.3),

$$G_1(x+1) - G_1(x) = \begin{cases} 1/x & \text{if } |x|_p = 1, \\ 0 & \text{if } |x|_p < 1. \end{cases}$$
 (2.5)

For any *p*-adic integers *a* and *b* with  $a \equiv b \pmod{p}$ , by [6, (2.2) and (2.3)], we have  $\Gamma_p(a) \equiv \Gamma_p(b) \pmod{p}$  and  $\Gamma'_p(a) \equiv \Gamma'_p(b) \pmod{p}$ , and so  $G_1(a) \equiv G_1(b) \pmod{p}$ . By repeatedly applying (2.5), we obtain

$$G_1(x) \equiv G_1(s_p(x)) \pmod{p}$$

$$= G_1(s_p(x) - 1) + \frac{1}{s_p(x) - 1}$$

$$= G_1(1) + H_{s_p(x) - 1}$$

which is the desired result.

We also need some combinatorial identities.

LEMMA 2.2. For any even integer n,

$$\sum_{k=0}^{n} \binom{2k}{k} \binom{n+k}{2k} \left(-\frac{1}{2}\right)^k = \frac{\binom{n}{n/2}}{(-4)^{n/2}},\tag{2.6}$$

$$\sum_{k=0}^{n} {2k \choose k}^2 {n+k \choose 2k} \left(-\frac{1}{4}\right)^k = \frac{{n \choose n/2}^2}{4^n},\tag{2.7}$$

$$\sum_{k=0}^{n} {2k \choose k} {n+k \choose 2k} \left(-\frac{1}{2}\right)^k \sum_{i=1}^{k} \frac{1}{n+i} = \frac{{n \choose n/2}}{(-4)^{n/2}} \left(\frac{1}{2}H_n - \frac{1}{2}H_{n/2}\right), \tag{2.8}$$

$$\sum_{k=0}^{n} {2k \choose k}^2 {n+k \choose 2k} \left(-\frac{1}{4}\right)^k \sum_{i=1}^{k} \frac{1}{n+i} = \frac{{n \choose n/2}^2}{4^n} \left(\frac{3}{2}H_n - H_{n/2}\right). \tag{2.9}$$

Proof. Identities (2.6) and (2.7) are deduced directly from (1.7) and the identity

$$_{2}F_{1}\begin{bmatrix} -a, & a+1\\ & 1 \end{bmatrix}; \frac{1}{2} = \frac{\Gamma(1/2)}{\Gamma((1-a)/2)\Gamma(1+a/2)}$$
 (2.10)

(see [2, (2), page 11]), by setting a = n.

Note that

$$\sum_{i=1}^{k} \frac{1}{n+i} = H_{n+k} - H_n.$$

In order to prove (2.8) and (2.9), by (2.6) and (2.7), it suffices to show that

$$\sum_{k=0}^{2n} {2k \choose k} {2n+k \choose 2k} \left(-\frac{1}{2}\right)^k (2H_{2n+k} - 3H_{2n} + H_n) = 0, \tag{2.11}$$

$$\sum_{k=0}^{2n} {2k \choose k}^2 {2n+k \choose 2k} \left(-\frac{1}{4}\right)^k (2H_{2n+k} - 5H_{2n} + 2H_n) = 0.$$
 (2.12)

Let  $A_n$  and  $B_n$  denote the left-hand sides of (2.11) and (2.12), respectively. Using the software package Sigma developed by Schneider [10], we find that  $A_n$  and  $B_n$  satisfy the recurrences

$$(2n+1)A_n + 2(n+1)A_{n+1} = 0$$

and

$$4(n+1)^{2}(2n+1)^{2}(4n+7)B_{n} - (4n+5)(32n^{4} + 160n^{3} + 296n^{2} + 240n + 71)B_{n+1} + 4(n+2)^{2}(2n+3)^{2}(4n+3)B_{n+2} = 0,$$

respectively. It is easy to verify that  $A_0 = 0$  and  $B_0 = B_1 = 0$ , and so  $A_n = B_n = 0$  for all  $n \ge 0$ .

REMARK 2.3. The combinatorial identities (2.8) and (2.9) can also be automatically discovered and proved by Schneider's computer algebra package Sigma. We refer to [10, Section 3.1] for an interesting approach to finding and proving combinatorial identities of this type.

#### 3. Proof of Theorem 1.1

We can rewrite (1.4) as

$$\sum_{k=0}^{p-1} {2k \choose k} {a+k \choose 2k} \left(-\frac{1}{2}\right)^k \equiv (-1)^{(p+1)/2} \Gamma_p \left(\frac{1}{2}\right) \Gamma_p \left(-\frac{a}{2}\right) \Gamma_p \left(\frac{a+1}{2}\right) \pmod{p^2}. \tag{3.1}$$

Let  $\delta = (a - \langle a \rangle_p)/p$ . It is clear that  $\delta$  is a *p*-adic integer and  $a = \langle a \rangle_p + \delta p$ . Since

$$\prod_{i=1}^{k} (C + x \pm i) = \left( \prod_{i=1}^{k} (C \pm i) \right) \left( 1 + x \sum_{i=1}^{k} \frac{1}{C \pm i} \right) + O(x^{2}),$$

it follows that

where we have used the fact that  $\binom{2k}{k} \prod_{i=1}^{2k} (1/i) \in \mathbb{Z}_p$  for  $0 \le k \le p-1$ . Now

LHS (3.1) 
$$\equiv \sum_{k=0}^{p-1} {2k \choose k} {\langle a \rangle_p + k \choose 2k} \left( -\frac{1}{2} \right)^k \times \left( 1 + \delta p \left( \sum_{i=1}^k \frac{1}{\langle a \rangle_p + i} + \sum_{i=1}^k \frac{1}{\langle a \rangle_p + 1 - i} \right) \right) \pmod{p^2}.$$
 (3.3)

Let  $b=p-\langle a\rangle_p$ . It is clear that  $\langle a\rangle_p\equiv -b\ (\mathrm{mod}\ p)$  and  $0\leq b-1\leq p-1$  is an even integer. Note that  ${b+k\choose 2k}={b-1+k\choose 2k}$ . Thus,

$$\sum_{k=0}^{p-1} \binom{2k}{k} \binom{\langle a \rangle_p + k}{2k} \left( -\frac{1}{2} \right)^k \sum_{i=1}^k \frac{1}{\langle a \rangle_p + 1 - i}$$

$$\equiv -\sum_{k=0}^{p-1} \binom{2k}{k} \binom{-b+k}{2k} \left( -\frac{1}{2} \right)^k \sum_{i=1}^k \frac{1}{b-1+i} \pmod{p}$$

$$= -\sum_{k=0}^{p-1} \binom{2k}{k} \binom{b-1+k}{2k} \left( -\frac{1}{2} \right)^k \sum_{i=1}^k \frac{1}{b-1+i}$$

$$\stackrel{\text{(2.8)}}{=} \frac{\binom{b-1}{(b-1)/2}}{(-4)^{(b-1)/2}} \left( \frac{1}{2} H_{(b-1)/2} - \frac{1}{2} H_{b-1} \right). \tag{3.4}$$

Since  $\binom{2n}{n} \left(-\frac{1}{4}\right)^n = \binom{-1/2}{n}$  and  $b + \langle a \rangle_p = p$ ,

$$\frac{\binom{b-1}{(b-1)/2}}{(-4)^{(b-1)/2}} = \binom{-\frac{1}{2}}{\frac{b-1}{2}} \equiv \binom{\frac{p-1}{2}}{\frac{b-1}{2}} = \binom{\frac{p-1}{2}}{\frac{(a)_p}{2}} \equiv \binom{-\frac{1}{2}}{\frac{(a)_p}{2}} = \frac{\binom{\langle a \rangle_p}{\langle a \rangle_p/2}}{(-4)^{\langle a \rangle_p/2}} \pmod{p}. \tag{3.5}$$

It follows from (3.4) and (3.5) that

$$\sum_{k=0}^{p-1} {2k \choose k} {\langle a \rangle_p + k \choose 2k} \left( -\frac{1}{2} \right)^k \sum_{i=1}^k \frac{1}{\langle a \rangle_p + 1 - i}$$

$$\equiv \frac{{\langle a \rangle_p \choose \langle a \rangle_p / 2}}{(-4)^{\langle a \rangle_p / 2}} \left( \frac{1}{2} H_{(p - \langle a \rangle_p - 1)/2} - \frac{1}{2} H_{p - \langle a \rangle_p - 1} \right) (\text{mod } p). \tag{3.6}$$

Furthermore,

$$\sum_{k=0}^{p-1} {2k \choose k} {\langle a \rangle_p + k \choose 2k} \left( -\frac{1}{2} \right)^k \stackrel{\text{(2.6)}}{=} \frac{{\langle a \rangle_p \choose \langle a \rangle_p / 2}}{(-4)^{\langle a \rangle_p / 2}}$$
(3.7)

and

$$\sum_{k=0}^{p-1} {2k \choose k} {\langle a \rangle_p + k \choose 2k} \left( -\frac{1}{2} \right)^k \sum_{i=1}^k \frac{1}{\langle a \rangle_p + i} \stackrel{\text{(2.8)}}{=} \frac{\left( \frac{\langle a \rangle_p}{\langle a \rangle_p / 2} \right)}{(-4)^{\langle a \rangle_p / 2}} \left( \frac{1}{2} H_{\langle a \rangle_p} - \frac{1}{2} H_{\langle a \rangle_p / 2} \right). \tag{3.8}$$

Combining (3.3) and (3.6)–(3.8) gives

LHS (3.1) 
$$\equiv \left(-\frac{1}{4}\right)^{\langle a\rangle_p/2} \left(\frac{\langle a\rangle_p}{\langle a\rangle_p/2}\right) \left(1 + \frac{\delta p}{2} (H_{(p-\langle a\rangle_p-1)/2} - H_{\langle a\rangle_p/2})\right) \pmod{p^2},$$
 (3.9)

where we have used the fact that  $H_{p-1-k} \equiv H_k \pmod{p}$  for  $0 \le k \le p-1$ .

Note that

$$\frac{(\frac{1}{2})_k}{(1)_k} = \frac{\binom{2k}{k}}{4^k},\tag{3.10}$$

and for  $a \in \mathbb{Z}_p$ ,  $n \in \mathbb{N}$  such that none of a, a + 1, ..., a + n - 1 are in  $p\mathbb{Z}_p$  (see [7, Lemma 17, (4)]),

$$(a)_n = (-1)^n \frac{\Gamma_p(a+n)}{\Gamma_p(a)}. (3.11)$$

From (3.10) and (3.11), we deduce that

$$\left(-\frac{1}{4}\right)^{\langle a\rangle_p/2} \binom{\langle a\rangle_p}{\langle a\rangle_p/2} \stackrel{\text{(3.10)}}{=} (-1)^{\langle a\rangle_p/2} \frac{(1/2)_{\langle a\rangle_p/2}}{(1)_{\langle a\rangle_p/2}} \stackrel{\text{(3.11)}}{=} (-1)^{\langle a\rangle_p/2} \frac{\Gamma_p(1)\Gamma_p((1+\langle a\rangle_p)/2)}{\Gamma_p(1/2)\Gamma_p(1+\langle a\rangle_p/2)}.$$
(3.12)

By (2.2),

$$\Gamma_p \left(\frac{1}{2}\right)^2 = (-1)^{(p+1)/2},$$
(3.13)

$$\Gamma_p \left( 1 + \frac{\langle a \rangle_p}{2} \right) \Gamma_p \left( -\frac{\langle a \rangle_p}{2} \right) = (-1)^{1 + \langle a \rangle_p / 2}. \tag{3.14}$$

Applying (2.1), (3.13) and (3.14) to the right-hand side of (3.12) and then using  $\langle a \rangle_p = a - \delta p$ ,

$$\left(-\frac{1}{4}\right)^{\langle a\rangle_{p}/2} \binom{\langle a\rangle_{p}}{\langle a\rangle_{p}/2} = (-1)^{(p+1)/2} \Gamma_{p} \left(\frac{1}{2}\right) \Gamma_{p} \left(\frac{1+\langle a\rangle_{p}}{2}\right) \Gamma_{p} \left(-\frac{\langle a\rangle_{p}}{2}\right) \\
= (-1)^{(p+1)/2} \Gamma_{p} \left(\frac{1}{2}\right) \Gamma_{p} \left(\frac{1+a-\delta p}{2}\right) \Gamma_{p} \left(\frac{-a+\delta p}{2}\right). \tag{3.15}$$

Note that for  $a, b \in \mathbb{Z}_p$  (see [7, Theorem 14]),

$$\Gamma_p(a+bp) \equiv \Gamma_p(a)(1+G_1(a)bp) \pmod{p^2}.$$
 (3.16)

Furthermore, applying (3.16) to the right-hand side of (3.15),

$$\left(-\frac{1}{4}\right)^{\langle a\rangle_p/2} \binom{\langle a\rangle_p}{\langle a\rangle_p/2} \equiv (-1)^{(p+1)/2} \Gamma_p \left(\frac{1}{2}\right) \Gamma_p \left(\frac{1+a}{2}\right) \Gamma_p \left(-\frac{a}{2}\right) \\
\times \left(1 + \frac{\delta p}{2} \left(G_1 \left(-\frac{a}{2}\right) - G_1 \left(\frac{1+a}{2}\right)\right)\right) \pmod{p^2}. \tag{3.17}$$

It follows from (3.9) and (3.17) that

LHS (3.1) 
$$\equiv (-1)^{(p+1)/2} \Gamma_p \left(\frac{1}{2}\right) \Gamma_p \left(\frac{1+a}{2}\right) \Gamma_p \left(-\frac{a}{2}\right)$$
  
  $\times \left(1 + \frac{\delta p}{2} \left(H_{(p-\langle a \rangle_p - 1)/2} - H_{\langle a \rangle_p / 2} + G_1 \left(-\frac{a}{2}\right) - G_1 \left(\frac{1+a}{2}\right)\right)\right) \pmod{p^2}.$ 

In order to prove (3.1), it suffices to show that

$$H_{(p-\langle a\rangle_p-1)/2} - H_{\langle a\rangle_p/2} + G_1\left(-\frac{a}{2}\right) - G_1\left(\frac{1+a}{2}\right) \equiv 0 \pmod{p}.$$
 (3.18)

By (2.4),

$$G_1\left(-\frac{a}{2}\right) - G_1\left(\frac{1+a}{2}\right) \equiv H_{s_p(-a/2)-1} - H_{s_p((1+a)/2)-1} \pmod{p}. \tag{3.19}$$

Since  $\langle a \rangle_p$  is an even integer,

$$s_p\left(-\frac{a}{2}\right) - 1 = p - \frac{\langle a \rangle_p}{2} - 1,\tag{3.20}$$

$$s_p\left(\frac{1+a}{2}\right) - 1 = \frac{p + \langle a \rangle_p + 1}{2} - 1. \tag{3.21}$$

Substituting (3.19) into the left-hand side of (3.18) and then using (3.20) and (3.21),

LHS (3.18) 
$$\equiv H_{(p-\langle a\rangle_p-1)/2} - H_{\langle a\rangle_p/2} + H_{p-(\langle a\rangle_p/2)-1} - H_{(p+\langle a\rangle_p-1)/2} \equiv 0 \pmod{p}$$
,

where we have utilised the fact that  $H_{p-k-1} \equiv H_k \pmod{p}$  for  $0 \le k \le p-1$ .

#### 4. Proofs of Theorems 1.2 and 1.3

The proof of Theorem 1.2 directly follows from (1.4), (1.6) and (3.13). It remains to prove Theorem 1.3. We distinguish two cases to show (1.6).

If  $\langle a \rangle_p \equiv 1 \pmod{2}$ , by (1.2) and (1.3), then (1.6) clearly holds.

If  $\langle a \rangle_p \equiv 0 \pmod{2}$ , by (3.9) and (3.10), it suffices to show that

$$\sum_{k=0}^{p-1} {2k \choose k}^2 {a+k \choose 2k} \left(-\frac{1}{4}\right)^k$$

$$\equiv \left(\frac{1}{4}\right)^{\langle a \rangle_p} {\langle a \rangle_p \choose \langle a \rangle_p/2}^2 (1 + \delta p(H_{(p-\langle a \rangle_p - 1)/2} - H_{\langle a \rangle_p/2})) \pmod{p^2}. \tag{4.1}$$

Applying (3.2) to the left-hand side of (4.1) yields

LHS (4.1) 
$$\equiv \sum_{k=0}^{p-1} {2k \choose k}^2 {\langle a \rangle_p + k \choose 2k} \left( -\frac{1}{4} \right)^k$$
$$\times \left( 1 + \delta p \left( \sum_{i=1}^k \frac{1}{\langle a \rangle_p + i} + \sum_{i=1}^k \frac{1}{\langle a \rangle_p + 1 - i} \right) \right) \pmod{p^2}. \tag{4.2}$$

Using the same idea as in the previous section and the identities (2.7) and (2.9),

$$\sum_{k=0}^{p-1} {2k \choose k}^2 {\langle a \rangle_p + k \choose 2k} \left( -\frac{1}{4} \right)^k \sum_{i=1}^k \frac{1}{\langle a \rangle_p + 1 - i}$$

$$\equiv \frac{\left( \frac{\langle a \rangle_p}{\langle a \rangle_p / 2} \right)^2}{4^{\langle a \rangle_p}} \left( H_{(p - \langle a \rangle_p - 1)/2} - \frac{3}{2} H_{p - \langle a \rangle_p - 1} \right) \pmod{p}, \tag{4.3}$$

$$\sum_{k=0}^{p-1} {2k \choose k}^2 {\langle a \rangle_p + k \choose 2k} \left( -\frac{1}{4} \right)^k = \frac{\left( \langle a \rangle_p / 2 \right)^2}{4^{\langle a \rangle_p / 2}}, \tag{4.4}$$

and

$$\sum_{k=0}^{p-1} {2k \choose k}^2 {\langle a \rangle_p + k \choose 2k} \left( -\frac{1}{4} \right)^k \sum_{i=1}^k \frac{1}{\langle a \rangle_p + i} = \frac{\left( \langle a \rangle_p \right)^2}{4^{\langle a \rangle_p}} \left( \frac{3}{2} H_{\langle a \rangle_p} - H_{\langle a \rangle_p/2} \right). \tag{4.5}$$

Combining (4.2)–(4.5) gives the desired result that

LHS (4.1) 
$$\equiv \left(\frac{1}{4}\right)^{\langle a \rangle_p} {\langle a \rangle_p / 2}^2 (1 + \delta p (H_{(p - \langle a \rangle_p - 1)/2} - H_{\langle a \rangle_p / 2})) \pmod{p^2}.$$

## 5. Some open conjectures

Long and Ramakrishna [7, Theorem 3] have extended the case when  $a=-\frac{1}{2}$  in (1.1) to a supercongruence modulo  $p^3$ . Numerical calculation suggests that the other three cases when  $a=-\frac{1}{3},-\frac{1}{4},-\frac{1}{6}$  in (1.1) have similar modulo  $p^3$  extensions. These three conjectural supercongruences follow.

Conjecture 5.1. Let  $p \ge 5$  be a prime. Then, modulo  $p^3$ ,

$${}_{3}F_{2}\begin{bmatrix}\frac{1}{2}, & \frac{1}{3}, & \frac{2}{3} \\ & 1, & 1\end{bmatrix}_{p-1} \equiv \begin{cases} (-1)^{(p+1)/2} \Gamma_{p} \left(\frac{1}{6}\right)^{2} \Gamma_{p} \left(\frac{1}{3}\right)^{2} & \text{if } p \equiv 1 \pmod{6}, \\ (-1)^{(p-1)/2} \frac{p^{2}}{18} \Gamma_{p} \left(\frac{1}{6}\right)^{2} \Gamma_{p} \left(\frac{1}{3}\right)^{2} & \text{if } p \equiv 5 \pmod{6}, \end{cases}$$

$$(5.1)$$

$${}_{3}F_{2}\begin{bmatrix}\frac{1}{2}, & \frac{1}{4}, & \frac{3}{4} \\ & 1, & 1\end{bmatrix}_{p-1} \equiv \begin{cases} (-1)^{(p+1)/2} \Gamma_{p} \left(\frac{1}{8}\right)^{2} \Gamma_{p} \left(\frac{3}{8}\right)^{2} & \text{if } p \equiv 1, 3 \pmod{8}, \\ (-1)^{(p-1)/2} \frac{3p^{2}}{64} \Gamma_{p} \left(\frac{1}{8}\right)^{2} \Gamma_{p} \left(\frac{3}{8}\right)^{2} & \text{if } p \equiv 5, 7 \pmod{8}, \end{cases}$$
(5.2)

$${}_{3}F_{2}\begin{bmatrix}\frac{1}{2}, & \frac{1}{6}, & \frac{5}{6} \\ & 1, & 1\end{bmatrix}_{p-1} \equiv \begin{cases} -\Gamma_{p}\left(\frac{1}{12}\right)^{2}\Gamma_{p}\left(\frac{5}{12}\right)^{2} & \text{if } p \equiv 1 \pmod{4}, \\ -\frac{5p^{2}}{144}\Gamma_{p}\left(\frac{1}{12}\right)^{2}\Gamma_{p}\left(\frac{5}{12}\right)^{2} & \text{if } p \equiv 3 \pmod{4}. \end{cases}$$

$$(5.3)$$

There is strong numerical evidence to suggest that supercongruence (1.5) also holds modulo  $p^3$ .

Conjecture 5.2. Let  $p \ge 5$  be a prime. For any p-adic integer a with  $\langle a \rangle_p \equiv 0 \pmod{2}$ ,

$$_{3}F_{2}\begin{bmatrix} \frac{1}{2}, & -a, & a+1\\ & 1, & 1 \end{bmatrix}; 1 \Big]_{p-1} \equiv (-1)^{(p+1)/2} \Gamma_{p} \left(-\frac{a}{2}\right)^{2} \Gamma_{p} \left(\frac{a+1}{2}\right)^{2} \pmod{p^{3}}.$$
 (5.4)

It is clear that (5.4) reduces to the first cases of (5.1)–(5.3) when  $a = -\frac{1}{3}, -\frac{1}{4}, -\frac{1}{6}$ . Unfortunately, the method in this paper is not applicable for proving these conjectures.

## Acknowledgement

The author would like to thank the anonymous referee for a careful reading of this manuscript and helpful comments which made the paper more readable.

### **References**

- [1] S. Ahlgren, 'Gaussian hypergeometric series and combinatorial congruences', in: *Symbolic Computation, Number Theory, Special Functions, Physics and Combinatorics (Gainesville, FL, 1999)*, Developments in Mathematics, 4 (Kluwer, Dordrecht, 2001), 1–12.
- [2] W. N. Bailey, Generalized Hypergeometric Series (Stechert-Hafner, New York, 1964).
- [3] H. Cohen, *Number Theory. Vol. II. Analytic and Modern Tools*, Graduate Texts in Mathematics, 240 (Springer, New York, 2007).
- [4] V. J. W. Guo and J. Zeng, 'Some *q*-supercongruences for truncated basic hypergeometric series', *Acta Arith.* **171** (2015), 309–326.
- [5] T. Ishikawa, 'Super congruence for the Apéry numbers', Nagoya Math. J. 118 (1990), 195–202.
- [6] T. Kilbourn, 'An extension of the Apéry number supercongruence', Acta Arith. 123 (2006), 335–348.
- [7] L. Long and R. Ramakrishna, 'Some supercongruences occurring in truncated hypergeometric series', Adv. Math. 290 (2016), 773–808.
- [8] E. Mortenson, 'Supercongruences for truncated n+1  $F_n$  hypergeometric series with applications to certain weight three newforms', *Proc. Amer. Math. Soc.* **133** (2005), 321–330.
- [9] F. Rodriguez-Villegas, 'Hypergeometric families of Calabi-Yau manifolds', in: Calabi-Yau Varieties and Mirror Symmetry (Toronto, ON, 2001), Fields Institute Communications, 38 (American Mathematical Society, Providence, RI, 2003), 223–231.
- [10] C. Schneider, 'Symbolic summation assists combinatorics', Sém. Lothar. Combin. 56 (2007), B56b.
- [11] Z.-H. Sun, 'Congruences concerning Legendre polynomials', Proc. Amer. Math. Soc. 139 (2011), 1915–1929.
- [12] Z.-H. Sun, 'Generalized Legendre polynomials and related supercongruences', J. Number Theory 143 (2014), 293–319.
- [13] Z.-H. Sun, 'Note on super congruences modulo  $p^2$ ', Preprint, 2015, arXiv:1503.03418.
- [14] Z.-W. Sun, 'Super congruences and Euler numbers', Sci. China Math. 54 (2011), 2509–2535.
- [15] Z.-W. Sun, 'On sums involving products of three binomial coefficients', Acta Arith. 156 (2012), 123–141.
- [16] Z.-W. Sun, 'Supercongruences involving products of two binomial coefficients', Finite Fields Appl. 22 (2013), 24–44.

- [17] R. Tauraso, 'An elementary proof of a Rodriguez-Villegas supercongruence', Preprint, 2009, arXiv:0911.4261.
- [18] L. van Hamme, 'Proof of a conjecture of Beukers on Apéry numbers', in: Proceedings of the Conference on p-Adic Analysis (Houthalen, 1987) (Vrije Universiteit, Brussels, 1987), 189–195.

JI-CAI LIU, Department of Mathematics, Wenzhou University, Wenzhou 325035, PR China e-mail: jcliu2016@gmail.com